AMEN	IDMENT OF SOLICITATION/	MODIFICATION (OF CONTRACT	1. CO	ONTRACT ID CC	DDE	PAGE	OF PA	
2. AMENDME	NT/MODIFICATION NUMBER	3. EFFECTIVE DATE	4. REQUISITION/PURCHAS	SE REQUI	SITION NUMBER	5. PROJEC	T NUMBE		4 licable)
	P00015	See Block 16C							
6. ISSUED BY	CODE	SP0600	7. ADMINISTERED BY	(If other	than Item 6)	CODE			
Defense Log	gistics Agency								
DLA Energy	y-FEE (Utility Services Division)								
	J. KINGMAN ROAD								
	DIR, VA 22060-6222								
	MBOL: Francesca Turzi/DLA Ener								
	ncesca.turzi@dla.mil/Phone (571) 7 ADDRESS OF CONTRACTOR (Number, stree			(X)	9A. AMENDMEI				
				()	JA. AWIENDIVIEI	NT OF SOLIC	TIATION	NUMBER	•
	OUNTY WATER DISTRICT NO.	1		<u>ا</u> _	B. DATED (SEI	E ITEM 11)			
1400 ROGERSVILLE RD				Ш					
RADCLIFF KY 40160-9343				10A. MODIFICATION OF CONTRACT/ORDER NUMBE				UMBER	
UEI: LE2BI	-				SP0600-23-C-8354 10B. DATED (SEE ITEM 13)				
CAGE COI					IVD. DATED (32	May 31	2023		
CODE	I	CILITY CODE	ļ			may or	, 2020		
	11. THIS ITEN	ONLY APPLIES TO	AMENDMENTS OF S	SOLIC	ITATIONS				
The above	numbered solicitation is amended as set forth	in Item 14. The hour and dat	te specified for receipt of Offe	ers [is extended.	🗌 is not e	extended.		
Offers must acl	knowledge receipt of this amendment prior to t	he hour and date specified ir	n the solicitation or as amend	ded, by o	ne of the followin	ig methods:			
		•	t; (b) By acknowledging rece	•		.,			
	c) By separate letter or electronic communicati								
	GMENT TO BE RECEIVED AT THE PLACE D N OF YOUR OFFER. If by virtue of this amend							SULI	
	n, provided each letter or electronic communica		-			-		d date	
specified.									
	TING AND APPROPRIATION DATA (If requined on G, Accounting and Appropriated on G, Accounting and Appropriated on Appropriated o	-							
			DDIFICATIONS OF C ER NUMBER AS DESC						
	A. THIS CHANGE ORDER IS ISSUED PUR NUMBER IN ITEM 10A.	SUANT TO: (Specify authori	ity) THE CHANGES SET FO	RTH IN I	ITEM 14 ARE MA	ADE IN THE C	ONTRAC	T ORDER	2
\times	B. THE ABOVE NUMBERED CONTRACT/ORDER IS MODIFIED TO REFLECT THE ADMINISTRATIVE CHANGES (such as changes in paying office, appropriation data, etc.) SET FORTH IN ITEM 14, PURSUANT TO THE AUTHORITY OF FAR 43.103(b).								
	C. THIS SUPPLEMENTAL AGREEMENT IS ENTERED INTO PURSUANT TO AUTHORITY OF:								
	D. OTHER (Specify type of modification and	l authority)							
E. IMPORT	TANT: Contractor 🛛 is not 🗌 is r	equired to sign this do	ocument and return <u>0</u>	copies	to the issuing	office.			
14. DESCRIPT	ION OF AMENDMENT/MODIFICATION (Org.	anized by UCF section hea	dings, including solicitation	n/contra	ct subject matte	er where feas	ible.)		
	Fort Ko		etization Control						
			atization Contrac	π					
		stewater/Stormw	•						
	See	Additional Pages fo	or Further Details.						
	ided herein, all terms and conditions of the do	cument referenced in Item 94	1	-	-			ect.	
15A. NAME AN	ND TITLE OF SIGNER (Type or print)		16A. NAME AND TITLE O				print)		
					RL SILVERS TRACTING (
				CONT					
15B. CONTRAC	CTOR/OFFEROR	15C. DATE SIGNED	16B. UNITED STATES OF	AMERI	CA		-1 6C. I	JATE SIG	NED
						1	1/22/5	2024	
(Si	ignature of person authorized to sign)		(Signature	e of Contr	racting Officer)			2024 5er 28, 20	
						PUE	JLIC SE	ERVICE	

STANDARD FORM 30 (REV 1/2016) Prescribed by GSA FAR (48 CFR) 53.24

A. The purpose of this modification is as follows:

- Establish and obligate funds for the October and November 2024 Monthly Utility Service Charge (MUSC), as follows:
 a. Establish ACRN AD in the amount of \$552,243.38;
 - b. CLIN 2004, add funding in the amount of \$471,638.88 under ACRN AD;
 - c. CLIN 2005, add funding in the amount of \$79,632.00 under ACRN AD;
 - d. CLIN 2006, add funding in the amount of \$972.50 under ACRN AD.
- 2. Update Section G.2, Submission and Payment of Invoices, to obligate funding in the amount of \$552,243.38.
- **B.** Schedule B-2, Utility Service Payment by the Government, is hereby updated as follows (changes in red):



CLIN	Description	Quantity	Unit	Unit Cost	Total
2001	Contract Year 20 Wastewater Collection System Base Fixed Monthly Charge for Fiscal Year 2024 Period of Performance: 01 July 2024 – 30 September 2024	3	МО	\$235,819.44	\$707,458.32
2002	ACRN AC \$707,458.32 Contract Year 20 Stormwater Collection System Base Fixed Monthly Charge for Fiscal Year 24 Period of Performance: 01 July 2024 – 30 September 2024 ACRN AC \$119,448.00	3	MO	\$39,816.00	\$119,448.00
2003	Contract Year 20 Cyber Security Charge for Fiscal Year 24 Period of Performance: 01 July 2024 – 30 September 2024 ACRN AC \$1,458.75	3	МО	\$486.25	\$1,458.75
2004	Contract Year 20 Wastewater Collection System Base Fixed Monthly Charge for Fiscal Year 25 Period of Performance: 01 October 2024 – 30 June 2025 ACRN AD \$471,638.88	9	МО	\$235,819.44	2,122,374.96
2005	Contract Year 20 Stormwater Collection System Base Fixed Monthly Charge for Fiscal Year 25 Period of Performance: 01 October 2024 – 30 June 2025 ACRN AD \$79,632.00	9	MO	\$39,816.00	\$358,344.00
2006	Contract Year 20 Cyber Security Charge for Fiscal Year 25 Period of Performance: 01 October 2024 – 30 June 2025 ACRN AD \$972.50	9	МО	\$486.25	\$4,376.25



C. Section G.2, Submission and Payment of Invoices, Accounting and Appropriation Data is hereby updated:

ACRN AD is hereby established in modification P00015 from MIPR 12194353 Basic in the amount of \$552,243.38 as provided by the Army:

02120252025 2020000 A60TE 131079QUTS 2540 0012194353 S.0070014.22.6 021001

A funding breakdown of ACRN AD is provided as follows:

8		
	Basic	\$552,243.38
Funding Breakdown		
Funding for contract	CLIN 2004	\$471,638.88
	CLIN 2005	\$79,632.00
	CLIN 2006	\$972.50
Total Funding for ACRN AD		\$552,243.38
Funds Remaining		\$0.00

D. The total obligation value increases by \$552,243.38 from \$76,142,182.26 to \$76,694,425.64.

E. The total estimated contract value remains the same at \$79,826,008.06.

F. All other Terms and Conditions of this contract remain unchanged and in full force and effect.

END OF MODIFICATION

